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Section A - 20 marks .

Questions 1 to 10 carry 2 marks each. For each question, four aptions -
are given. One of them is the correct answer. Make your choice (1,2.3
or 4). Write your answer in the bracket provided. |

1)  Look at the pictures below.
Which group has the greatest number?

A .
BELLALLL LI
C G L I
1 A () B |
@ ¢ . 4y b ( )

2)  Find the missing number to complefe the number bond.

1 7 | @) 10

@) 13 @ 1 )



3)

4)

5)

Loak at the picture below. ‘ |
Which is the correct subtraction sentence for the picture below?

(1) 17-4=13 (2) 17-3=14

(3) 20-4:=16 4 20-3=17 - (

5 twos is the same as

() 5+5+5+545 ) 5x5

(3) 2+2+2+2+2 ' (@) 2x2x2x2x2 (

Study Th‘é“ﬁiéfur‘e-bélow.

The mass of 1 apple is | O.

M 5 o @ 8

(3) 10 . @ 4

7~



6)

7)

A few children have 18 lollipops altogether. If each child has 3
lollipops, how many children are there altogether?

() 6 (2) 18
(3) 3 (4) 21

Look at the picture below.
Arrange the animals from the tallest to the shortest.

1) AB.COD () 8,D,A.C

(3) D.C.B,A 4) C,AD.B



8)  The picture graph below shows the different types-of food a group of
children like.

Noodleé AAAA/\ /\/\A

Pizza A A A A |
NasiLemqff VANIAN FANIVAN /\ A /\ A AN A

Each /\ stands for 1 chtld

fewer children like Pizza than Nasi Lemak.

1y 6 (2) 8 |
(3) 10 @) 4 - ¢« )

9)  The nextcorrect shape in the pattern is

w5y

{3

3
daEik

=
d @

(1) (2)

(4)




10}  Study the pictures below.

N

N

Jane wanted fo fill her basket with items that add up to a mass
of 3.

Which two items should she put in her basket?

(1) Cakeand Burger (2) Cupcake and Drink

(3) Cupcake and Burger (4) Drink and Burger ( )



Section B - 60 marks

Questions 11 fo: 40 carry 2 marks each. Write your' answers in the
spaces provided. Show your working clearly for each question.

11) Worite forty-eight in numerals.

12} Put a tick ( v )in the box for the set thaf has more balls:

@@@@@@@

13) Look at the picture below and write an addition sentence.

14) Complete the number bond below.

10



15) Write the missing number in the ‘OUT box of the number machine below.

16) :
4 less than 12 is

17) Ali uses some sticks to form some squares as shown below.
How many :more sticks does he need to make 5 such squares in a row?




18) Cross out the 5™ toy.

Cow. Donkey  Rooster Sheep Pig.

20) Study. the picture below and write a suitable multiplication sentence in
the blank§ provided.

There are altogether.

\]



<) )

Gy

® B
) A8

! triangles in the picture shown below.

oJ

- . Y

A 2] i ) A 0
&6 s
& e ¢

(] [57 /%]

The smallest 2+didi? nuthber is r

Circle the cars into groups.of 2,
Each number can be used only once.

23)  Form the smallest'2-digit number using the numbers below.

21)
- 22) There are

-~



Look at the picTuré below and answer questions 24 and 25.

—-..u..-.-.--—-..—..-—-.«.—._-——a.
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Thermomefer

Use &D as 1 unit

24) The length of the stapler is : units loﬁg.

- 25) The thermometer has the length of

I

26). Fill in the blank with the cofrjec‘r answer from the box below.

as heavy as - “heavier than lighter than

Object B is

Object A.

- 10

staplers.

W



27) Colour the greatest number.

[ 9 tens ]1( 90 OnNes WL 9\ oneg ] LS tens 9 onﬂ
28) Complete the number pattern below.

(= )(=)

The missing number is

30) Look at the pi(‘:’ruré below. g
Draw an equal number of flowers on each umbrella.

s

o P

i F ) GRS R RS L.
3 d B :

" on each umbrella.




31) Circle the shape that comes next in the pattern below.

32)

Vase

Each. stands for 1 unit.

) and Vase ’ _| are about the same height,

12 W



Study the picture graph below and answer questions 33 and 34.

Number of toy aeroplanes each boy owns

Henry | Ju Ming: Siva : Alj

Each & stands for 1 fof aeraplane.

33) Ju Ming and Si\(tf;l have | | toy aer‘dp!dnes altogether,

3| .

| hqs twice as many toy aeroplanes as Ju Ming.




36) Mrs Goh bakes 24 muffins in the morning.
She bakes 18 muffins in the afternoon,
How many muffins does she bake altogether?

She bakes

muffins altogether.

37) There are 30 sheep and cows alfogether.
Ifthere are 14 sheep, how many cows are there in the farm?

There are.

38) Tom is standing in a queue. -

cows.in the farm,

There are 5 people standing in front of him.
What is Tom's position in the line after three of the people in fr‘anf

of htm have left?

Tom's position is

in the line.

14 . ' o



39) Anoctopus has 8 legs.

5 octopuses will have legs altogether. -

40) Study the pictures below.

TS
REE

B e TR U

R T e W AR

The total mass of




Section € ~ 20 marks

For questions 41 to 45, show your working clearly in the space provided for
each question and write your answer in the space provided.

You may draw models to help you to answer the questions.

41)  The picture gmp’f‘\’ below shows the number of sandwiches that

Uncle Heng sold to a group of children,

Number of sandwiches sold

Tuna sandwich

Egg sandwich

Chicken sandwich

Each

a} How many fewer egg sandwiches than chicken sandwiches did

Uncle Heng sell?

M Heng sold o X | fewer egg sandwiches than

chicken sandwiches. -

by  How many sandwiches did Uncle Heng sell altogether?

He sold sandwiches altogether.

16



42) John has 32 stamps.

Shaun has 16 more stamps than John.

a) How many stamps does Shaun have?

Shaun has | stamps.

-b) How many stamps do the two boys have altogether?

They have stamps in alfogether.

N2k ] e . e #
7 ‘_-'._

70, e
RO R,
4 e
\ ]




43)  Theré are'87 lego blocks.

25 of them are black and the rest are red.

e How many red lego blocks are there?

There are red lego blocks,

b)  How many more red lego blocks than black lego blocks
are there?

" Thereare

‘1 more red lego blocks than’ black-lego blocks.




44)  Father bought 5 boxes of donuts for Aston's birthday party.

b)

-Father bought

There were 6 donuts in each box.

How many donuts did Father buy?

donuts.

Mother bought 25 donuts for Aston's birthday party.

How many donuts did Father and Mother buy ditogether?

Father and Mother bought

donuts altogether.

LAY
Givthday / |




45)  Mrs Raju bought 24 cherries and shared them among her 3 children.

Siva Priya Roshan

_a)  How many cherries did each child get?

Each child got | ( cherries.,

b) Siva found out that 5 of his cherries were rotten and he threw
them away.

How many cherries had he left?

He had cherries left.

- END OF PAPER -

Please check your work!
20 1






Answer

1/ A~

EXAM PAPER 2010

SCHOOL : ROSYTH PRIMARY
SUBJECT : PRIMARY 1 MATHEMATICS

TERM : SA2

Q1 1 Q2 | Q3 | Q4| Q5106 | Q7 1Q8 | Q9 1010

i a4l a3al1a11T312

11) 48

12) v

13)15+ 3 =18 14) 20 15) 23 16) 8 17) 6
18) N i

19) Donkey 20)6 x4 =24

A
O

There are 8 groups of 2

22)5 23) 36 24} 4 25) 2 26) lighter than
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Answer Key


28) 75 29) 1 30) 3 flower on each umbrella
31)

32)C, D 33)14 34) Henry 35) 10

36) 42 37) 16 39) 40

40) 12

41a)9-2=7 42a) 32 + 16 = 48
41b)7+9 =16 42b) 32 + 48 =80

432) 87 - 25 = 62

43b) 62— 25 = 37

44a)5x6 = 30

44b) 30 + 25 =55

|45a)24 -3 =8

45h)8—~5=3
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